(771 rr7

Rotoflux_2010

-~ ™
z
Iz
o
33 e
O\ §
FF §\\ NN /‘;& 1 |
| om A e @)
#17,995 ‘ _
T P \ |
[@]0.007 :
Q@ \
H ‘ |
L»ri B \
|
I L \
E
- %
" Y N\
90
Ordering Code 90° unions
A B o D E |eF1|eF2| oG H | L oP Q u oV Z |BKG.
A08-1501-04R M16 X 1,5 RH \
G1/4"| 5 91 34 | 344|245 17 16 66 18 | 45| 35 38 41 10,3
§ A08-1501-05L M16X 1,5 LH
A10-1701-04R M16 X 1,5 RH
G3/8"| 9 110 | 43 44 | 245| 17 16 82 18 | 4,5 |43,6|47,5[535]0,5
A10-1701-05L M16 X 1,5 LH
. AN %
~
- 18 Z |
"
1 85| I
00 08 Q ‘
X| X —
QL \
:: E\\ NS /‘{% | T
o L LT ~\
Fe - givees G P A D —[-H|P4 —F1- - 14 -5 K- Fe
T 817,995 | )
T g \
% B
|
\
Q@ H i K ﬁ
w
I L
E
o /
™
Ordering Code Straight through unions
A B oD| E |eF1|egF2|aG| H K | L |[eP]| Q U |sV| Z |BKG.
A08-1502-04R M16 X 1,5 RH
G1/4"| 5 | 108 | 34 (34,4(245| 17 | 30 | 16 | 92 | 18 |45 | 35 | 38 | 41 | 0,3
A08-1502-05L M16 X 1,5 LH
A10-1702-04R M16 X 1,5 RH
G3/8"| 9 |125| 43 | 44 [245| 17 | 24 | 16 | 109 | 18 | 4,5 |43,6|47,5(53,5| 0,5
A10-1702-05L M16 X 1,5 LH
- AN /
41



